12”0311 (K12n0311)

/ Linearized knot diagam

3 6 7 11 9 2 10 12 5 7 6 8

427, EEEEEEEEENEER

/ Solving Sequence

27%6%3»411»5%12%1% 10 >8> 9 —> G508, C12
A knot diagrarrﬂ ¢ €2 ¢ G 11 G Co 1 G

Ideals for irreducible component#ﬂ)f Xpar

I = (—2044u'® — 1922u'° + - + 3101b — 1979, 2044u'S +1922u' + - -- 4 3101a + 1979,
Wt Ut 4wt 1)

I = (u” +ub 4+ 205 +u? 4+ 20 +u? + b+ 2u, —u” —u® —2u® —u' —2u® —u? +a—u,
u® +u” 4 2u8 + w4 2ut + 4+ 20 4 1)

I} = (—749460642064u*t — 2228668431607u" + - - - 4 2074714652641b + 2531239700657,
940122740255u2" 4 759005323853u20 4 - - - + 2074714652641a — 6054928651235,
u? F2ut o —ut 1)

I = (b—u, 2u® + 3u® + 6u® + 4u® + a+ 5u+4, ub +u® +3u* +u® +3u® +u+ 1)

* 4 irreducible components of dim¢ = 0, with total 53 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I. I* = (—2044u'® — 1922u'® + .- - 4 3101b — 1979, 2044u'® + 1922’5 +
«o++3101a + 1979, v +ul® 4+ .- +u+ 1)

(i) Arc colorings

o (1)
)

a7 =
ag — )

u
a3 = \uyd+u
ag = \y3 —|—u>

0.659142u'6 + 0.619800u!'® + - - - + 3.68139u + 0.638181

—0.815866u'% — 0.632699u'® + - - - — 3.30119u — 0.598839
0.659142u'® + 0.619800u'® + - - - + 3.68139u + 0.638181

—0.156724u6 — 0.01289914!° + - - - — 1.61980u + 0.0393421
0. 515640u16 +0.419865u'® + - - - + 3.07449u + 0.533699

ud —I— ud + u>
—U
0.6591424'% +0.619800u'® + - - - + 3.68139u + 0.638181

0.0393421%'% + 0.196066w'® + - - - + 0.0209610u + 1.65914
0.53369941'% + 0.0180587w'® + - - - + 2.06772u — 1.54079

—0.104482u'6 + 0.0390197u'® + - - - — 0.175105u + 1.50242
ag = 0.629474:'% + 0.279910u'® + - - - + 2.04966w — 1.02515

( 0.659142u'® — 0.619800u'® + - - - — 4.68139u — 0.638181>

(ii) Obstruction class = —1

_ 724116 _ 194,15 . _ 1392 27045
(iif) Cusp Shapes = — 5 u sl t 413 U+ 01




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
“ w4+ et 4 — 11w — 1
C2,Cg, C8 u17_u16+_._+u_1
C12
€3 w4+ 4ut =9y —2
€4 u'"+19u'0 + - — 1920u — 256
c5,Co w5 1lu—4
c7,C10 u17—|—12u15+~-~—2u— 1
c11 w w4 —Tu—73




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
gl y' T +23y"0 + .+ B3y —1
€2, C6,C8 y Tyt — 11y —1
C12
€3 y' T+ 30y 0+ Ty — 4
Ca Y7 — 35916 + ... 4 409600y — 65536
s, Co y' 13y . £ 57y — 16
c7,C10 y17+24y16+--~+14y— 1
i1 yT—y% 4+ ... — 1119y — 5329




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

uw=0.315205 + 1.0460301
a= 0.082055 — 0.7210691

b= —0.397259 — 0.3249591

—7.22031 + 4.621071

—4.34829 — 2.681121

uw=0.315205 — 1.0460301
a= 0.082055 + 0.7210691
b= —0.397259 + 0.3249591

—7.22031 — 4.621071

—4.34829 + 2.681121

u = —0.174342 + 1.0958901
a= 0.69443 — 2.333561
b = —0.520091 + 1.2376801

—3.36776 + 0.120951

—1.97931 + 0.422121

u = —0.174342 — 1.0958901
a= 0.69443 + 2.333561
b = —0.520091 — 1.2376801

—3.36776 — 0.120951

—1.97931 — 0.422121

u = —0.104664 + 0.8627141
a = —0.258038 — 1.0634001
b= 0.362702 + 0.2006851

—1.97872 — 1.389251

—1.78976 + 4.991531

u = —0.104664 — 0.8627141
a = —0.258038 + 1.0634001
b= 0.362702 — 0.2006851

—1.97872 + 1.389251

—1.78976 — 4.991531

uw= 0.738518 + 0.4226891
a = —1.34345 — 0.540017
b= 0.604930 + 0.1173241

—2.97240 + 2.417481

1.62401 — 1.639681

uw= 0.738518 — 0.4226891
= —1.34345 4 0.540011

—2.97240 — 2.417481

1.62401 + 1.639681

b= 0.604930 — 0.1173241

= —0.584000
a= 1.03858 1.00795 10.1490
b= —0.454582

uw = —0.92539 + 1.077971
a= 0.807371 + 0.6629511
b= 0.11801 — 1.740921

8.59690 — 1.561881

3.90595 + 1.563971




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= —0.92539 — 1.077971
0.807371 — 0.6629511
= 0.11801 + 1.740921

U
a
b

8.59690 + 1.561881

3.90595 — 1.563971

0.97683 + 1.112281
a = —1.17199 + 0.820871
b= 0.19516 — 1.933151

u =

12.7535 + 7.60851

6.24645 — 4.201297

uw= 0.97683 —1.11228]
a = —1.17199 — 0.820871
b= 0.19516 + 1.933151

12.7535 — 7.60851

6.24645 4 4.201291

u = —0.99123 4 1.15222]
a= 1.50875+ 0.737481
b= —0.51753 — 1.889701

8.3449 — 13.50341

3.39007 + 6.775501

u = —0.99123 — 1.15222]
a= 1.50875 —0.737481
b= —0.51753 + 1.889701

8.3449 + 13.50341

3.39007 — 6.775501

u = —0.042937 + 0.4546191
a = —0.33843 — 1.664611
b= 0.381363 4 1.209990]

0.96686 — 2.334241

5.87632 — 0.701261

u = —0.042937 — 0.4546191
—0.33843 + 1.664611
b= 10.381363 — 1.2099901

0.96686 + 2.334241

5.87632 4 0.701261




IL 1Y = (u” + u® + 2u® + u?* + 203 + w? + b+ 2u, —u” — ub — 205 —u? —
2ud —u? +a—u, ud +u” + 2ub + ud + 2ut + ud + 2u? + 1)

(i) Arc colorings
0
a2 = u
a7 =
ag —
az =
uw +ul 20 +ut 20 +u 4 u )

(
(
(
(
ai = (—u7—u6—2u5—u4—2u3—u2—2u
(
(
(
(
(

—u7—u6—u5—u4—u3—u2 )

w’ + ub 4+ 2u® + ut 4 2u + w2 + 2u

U3
—u7—u6—u5—u4—u3—u2—u

—Uu
—u7—u6—2u5—u4—2u3—u2—2u>

0
—uﬁ—u5—2u4—u3—2u2—u—2>

ud
ag = \—u® —ut —ud —u? —u—1

(ii) Obstruction class =1

(iii) Cusp Shapes = —3u” — 9u® — 9u® — 11u* — 8u?® — 14u® — 8u — 7



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! u® — 3u” + 6u’ — 9u® + 12u* — 110> + 8u? —du + 1
Co,C8 W w4+ 2uS — w2t — w20+ 1
€3 u® +u” + 5ub + 8u® 4 Tut + 9ud + 5u? + 1
€4 u® —2u” + Tu® — 12u° + 16u* — 150° + 9u® — 4du + 1
] u® 4+ 2u7 + 60’ + 8u® + 11u + 9u® + Tu? + 2u + 1
Cg, C12 WHu 2+t P+ 20+ 1
€7 ub 4+ 2ul +uS 4 2ut P+ 20 w1
€9 u® — 20" 4 6u’ — 8u® + 11u* — 9ud + Tu? — 2u+1
C10 Wb -+t — P+ 2 —u+1
c11 u® 4+ u” + 208 + 5u 4+ 9ut + 100 + 8u® + 4du+ 1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
! y® 4+ 3y" + 6y° + 13y° + 20y* 4+ 1192 + 1
C2, Cg, Cg

y® 3y +69° + 995 + 120" + 1197 + 8% + 4y + 1
C12

€3 y® +9y" +23y5 — 2% — 43y* — ® 4+ 39y% 4+ 10y + 1

€a y® 4+ 10y" + 33y° +38y° + 8y — 19> — Ty? + 2y + 1
¢s, Co y® + 8y” + 2645 + 46y° + 55y + 53> + 3597 + 10y + 1
c7,C10 ¥+ 4y" + 8y + 1195 + 1291 + 9y + 612 + 3y + 1

11 y® +3y" +12¢° + Ty + Tyt +8y° + 297 + 1




Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.609994 + 0.7145731
= —1.301040 + 0.0949501
= 0.691049 — 0.8095241

0.43885 + 3.703431

1.67706 — 6.676501

= 0.609994 — 0.7145731
= —1.301040 — 0.0949501
= 0.691049 + 0.8095241

0.43885 — 3.703431

1.67706 + 6.676501

= —0.894229 + 0.7000201
= 1.58761 — 0.157231
= —0.693376 — 0.5427881

—2.47121 — 3.782371

2.85720 + 5.669571

= —0.894229 — 0.7000201
= 1.58761 + 0.157231
= —0.693376 + 0.5427881

—2.47121 + 3.782371

2.85720 — 5.669571

= —0.388842 + 1.1222901
0.664473 — 0.3267531
—0.275631 — 0.7955371

—6.67501 — 5.791661

—1.38166 4 7.296101

—0.388842 — 1.1222907
= 0.664473 + 0.3267531
= —0.275631 + 0.7955371

—6.67501 + 5.791661

—1.38166 — 7.296101

= 0.173077 4+ 0.7698801
—0.451035 + 0.466536.1
= 0.277959 — 1.2364201

0.48271 4 2.837011

—2.15260 — 6.823941

= 0.173077 — 0.7698801
= —0.451035 — 0.4665361
= 0.277959 + 1.2364201

0.48271 — 2.837011

—2.15260 4+ 6.823941
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Iy = (—7.49x 101 u?!

1011921 4 7.59 x 1011020 +. . . +2.07 X 1020 —6.05 X 1012, u22 42921 4...—

(i) Arc colorings

(+)

ag =
a7 = )
ag = )

u
az = \u®+u
ag = \q3 +u>

0.453134u2! — 0.365836u20 + -

1.80823u?! + 4.10689u2" + -
0.102467u2! + 0.504369u2" + -

0.0527569u2! + 1.00509u:2° + -
0.549456u2! + 1.48404u20 + -

u? 4+ ud +u>

0.0918980u2! + 0.708369u2° + -
0.361236u2! + 1.07420u20 + -

0.0284427u*! 4 0.181609u2° + -

(o
(+
(
(+
( 0.361236u?! + 1.07420u% + -
o
=
(
o-(
o=

0.386881u?! + 0.856405u2" + -

2.17072u?! + 3.8672062° + - -
a9 = \0.754654u?! 4+ 1.86631u20 + - -

(ii) Obstruction class = —1

(iii) Cusp Shapes
— 4274991010191, 21 | 7650116490863,20 ,
2074714652641 & 2074714652641

S 37457996269871

III.
—2.23 x 10129420 ... 42,07 x 10*2b42.53 X 10*2, 9.40 X

u+1)

— 8.73849u + 2.91844
— 1.46154u — 1.22004

- — 6.09846wu + 5.54053
- —2.52268u — 0.0105824

—11.1936u + 2.23883
— 1.60828u — 1.57919

—10.2000u + 1.69840
— 1.46154w — 1.22004

-+ 1.05626u — 3.67101
— 0.0832695u — 1.26247

+ 12.9324w — 2.07204
— 1.22080u — 0.574813

_ 2765051938302
2074714652641

2074714652641
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! u?? +18u* 4+ Fut 1

C2,Cg, C8 u22_2u21_~_”.+u+1

C12
€3 u?? — 4uPt + -+ 49499u + 24641
C4 (u't —6u'® + - — 35u — 17)*
Cs5, Co (' + 200 4 4 20+ 1)

c7,C10 u? + 1402 + .- — T5u + 37

i1 u?® — 4 + -+ T278u + 1669

12



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

1 y*2 4+ 3692t + - — 15y + 1

€2, Ce,C8 v 180 4y +1

C12
€3 y?2 4+ 78yt + - 4 7715838523y + 607178881
€4 (y'' — 18y + .- — 1019y — 289)°
€55 Co (y'' + 8y + - — 6y —1)?
22 21

C7,C10 Y+ 28y + -+ - + 43881y + 1369

ci1 y?2 — 3097 + - 4+ 12275264y + 2785561

13



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.513561 + 0.8767631
= —1.74964 + 1.010131
0.261055 — 1.0671101

—0.28697 + 5.476251

2.65866 — 8.439711

0.513561 — 0.8767631
—1.74964 — 1.010131
0.261055 + 1.0671101

—0.28697 — 5.476251

2.65866 + 8.439711

—0.508636 + 0.7677461
—0.123593 — 0.4606561
0.179030 + 0.7309581

1.14459 — 2.076441

6.88845 + 3.291151

—0.508636 — 0.7677461
—0.123593 + 0.460656.1
0.179030 — 0.7309581

1.14459 + 2.076441

6.88845 — 3.291151

= —0.666940 + 0.8748991
= 0.730783 + 0.2524611
—0.094389 — 0.2341711

1.04772 — 2.738771

6.75041 4 0.151711

—0.666940 — 0.8748991
= 0.730783 — 0.2524611
—0.094389 + 0.2341711

1.04772 4 2.738771

6.75041 — 0.151711

0.755260 + 0.3605271
= —1.006180 — 0.1433011
0.75122 — 1.280171

1.04772 4 2.738771

6.75041 — 0.151711

0.755260 — 0.3605271
—1.006180 + 0.1433011
0.75122 4 1.280171

1.04772 — 2.738771

6.75041 4 0.151711

—1.055500 + 0.6321131
= 1.66813 + 0.03713I
—1.64418 — 0.875981

—0.28697 — 5.476251

2.65866 + 8.439711

—1.055500 — 0.6321131
= 1.66813 — 0.03713I
= —1.64418 + 0.875981

>~ Q@ €|l & €| & €| Q& €| & €| & €| & &> & 8| & 8| & &

—0.28697 + 5.476251

2.65866 — 8.439711
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Solutions to I3

V=1(vol + v=1CS)

Cusp shape

u = —1.024000 4+ 0.9026351
a = —1.117000 — 0.2345611
b= 10.36023 + 1.725101

9.17587 — 5.617341

4.48506 + 3.301541

u = —1.024000 — 0.9026351
a = —1.117000 + 0.2345611
b= 10.36023 —1.725101

9.17587 + 5.617341

4.48506 — 3.301541

u= 110872+ 0.934111

a= 0.845306 — 0.7121871 13.3784 7.19306 + 0.1
b= —0.11289 + 1.963341
u= 110872 —0.934111
a= 0.845306 + 0.7121871 13.3784 7.19306 + 0.1

b= —0.11289 — 1.963341

u = 0.494892 4 0.0959031
a= 0.863812 4 0.1143181
b= 0.075028 + 1.2818801

1.14459 — 2.076441

6.88845 + 3.291151

u = 0.494892 — 0.0959031
a= 0.863812 —0.1143181
b= 0.075028 — 1.2818801

1.14459 + 2.076441

6.88845 — 3.291151

u = —1.19422 + 0.925041
a = —0.398068 — 0.9514771
b= —0.22895 + 2.013751

9.17587 + 5.617341

4.48506 — 3.301541

u = —1.19422 — 0.925041
a = —0.398068 + 0.9514771
b= —0.22895 — 2.013751

9.17587 — 5.617341

4.48506 + 3.301541

u= 0.73359 + 1.347641
a = —0.85310 — 1.146431
b= 0.822086 + 1.0424701

—4.61094 + 3.530791

—0.87911 — 8.447621

u= 0.73359 — 1.347641
a = —0.85310 4 1.146431
b= 0.822086 — 1.0424707

—4.61094 — 3.530791

—0.87911 + 8.447621

15



Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

—4.61094 — 3.530791

—0.87911 + 8.447621

u = —0.156708 4+ 0.3767161
a 3.63955 — 3.953911
b= —0.368242 — 0.7993351
u = —0.156708 — 0.3767161
a 3.63955 + 3.953911
b= —0.368242 + 0.7993351

—4.61094 + 3.530791

—0.87911 — 8.447621
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IV.
I = (b—u, 2u®+3u*+6u®+4u’+a+5u+4, u®+u®+3u*+u3+3u?+u+1)

(i) Arc colorings

o (1)
)

a7 =

ag — )
u

aa = 3

3 u° +u
u

ayq = u?’

Uu +u4+3u +u2+3u+1
3ub — —8uP —5u?—Tu—5
5+u + 2u

—3u? — 2u3 — Tu? —|—u—6)

u5—|—u +u>
2u® — 3u* — 6u® — 4u? —4u—4>
Uu

(
¢

<

( 5

( 2u® — 3u* —61;—4u —5u — )
¢

-

-

(

- (

ub — 2u3 +2u 2u+3)

4u® 4 2ut +9u3—u2—|—8u—|—1
ag = ut +2u +2

(ii) Obstruction class =1

(iii) Cusp Shapes = —3u? — 3u® — 6u? — 2

17



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! ub —5u’® +13u* — 17u® + 13u? — 5u + 1
C2,Cg,C10 wW—w? +3ut =P+ 3 —u+1
3 ub 4 4u® + 2u* — 3ud + 4u® —u + 1
¢4 (u® 4+ 2u? 4+ 3u +1)?
& (u® —u? + 2u — 1)?
Cg,C7,C12 W+ +3ut + P+ 3w +u+1
€9 (u +u? +2u+1)2
c11 w+3ud —u+6ur—2u+1

18



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
‘1 Yo+ + 25y  + 47 + 2507 +y + 1
€2,Ce, C7 6 5 4 3 2
vy +5y° +13y" + 17y° + 13y" + 5y + 1
€8, C10, C12
c3 y® — 12° + 36y + 17y3 + 149° + Ty + 1
€4 (y* +2y° + 5y — 1)
C5,Cy (v° +3y° +2y — 1)
c11 y® —9y° +18y* + 13y +32y* + 8y + 1

19



(vi)

Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol ++/=1CS) Cusp shape
= 0.377439 4 0.9260351
= 0.53980 — 1.324381 —0.531480 4974154+ 0.1
= 0.377439 + 0.9260351
= 0.377439 — 0.9260351
= 0.53980 + 1.324381 —0.531480 4.97415 4+ 0.1

0.377439 — 0.9260351

—0.273131 4 0.6143061
—2.85527 — 1.636091
—0.273131 + 0.6143061

—4.66906 + 2.828121

—0.98708 + 1.686841

—0.273131 — 0.6143061
—2.85527 + 1.636091
—0.273131 — 0.614306.1

U
a
b
U
a
b
U
a
b
U
a
b

—4.66906 — 2.828121

—0.98708 — 1.686841

u = —0.60431 + 1.359171
a= 0.31547 — 1.453511
b= —0.60431 + 1.359171

—4.66906 — 2.828121

—0.98708 — 1.686841

u = —0.60431 — 1.359171
a= 0.31547 + 1.453511
b= —0.60431 — 1.359171

—4.66906 + 2.828121

—0.98708 + 1.686841
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V. u-Polynomials

Crossings u-Polynomials at each crossing
o (u® — 5u® + 13u* — 17u® + 13u® — 5u + 1)
(u® = 3u” 4 6ul — 9u® + 12u* — 11u® + 8u? — 4u + 1)
T+ Tu =1l — ) (w2 4+ 180 - Fu+ 1)
¢z, Cg (u® —u® +3u* —u® +3u? —ud 1) (u® —u” + -+ 20 + 1)
W =t u =D WP 20 a1
o (u® + 4u® + 2ut — 3u + 4u? —u+1)
W a5+ D) (e 4t 4 — 9w — 2)
(U — 4ut - 49499 + 24641)
o (u® + 2u® + 3u + 1)?
(u® = 2u” + Tu® — 120° + 16u* — 150® + 9u® — du + 1)
((ut = 6ut® 4+ - = 35u — 17)%) (w7 4 196! 4 - - — 1920u — 256)
cs (= +2u— )W +2u" + - +2u+1)
(w20t o 2u+ D)D) (W = 5utt 11w — 4)
c6, €12 (u® +u® +3u* +u® +3u® Fud 1) +u’ + -+ 20+ 1)
W=t u =D 20 a1
cr (u® +u® +3u* +u® +3u® Fud 1)+ 208+ Fut1)
(T 120 = 20— 1) (W 1400 - — THu + 37)
c wd o+ 2u+ 1)) (Wl —2u" 4 —2u 1
9
(M 20+ 2u+ D)D) (W = 5utC 4 11w — 4)
c1o (b —u® +3u* —u® +3u? —ud 1)+ 208+ —u 1)
(120t = 20— 1) (v 140 - — THu + 37)
(u® + 3u® — u® + 6u? — 2u+ 1)
c11

(u® +u” 4 2u® 4 5ud + 9ut 4 100 + 8u? 4+ 4u + 1)
(Tt = Tu = T3) (w2 — 4w - T278u + 1669)
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Crossings

VI. Riley Polynomials

Riley Polynomials at each crossing

C1

(W° +1y° + 250" +y° + 2507 +y + 1)
Sy 3y 11y 1) (Y 4+ 23y + -+ 53y — 1)
Sy +36y% 4 — 15y + 1)

C2,Cg, Cg

C12

(5 + 5y° 4+ 13y* + 179° + 13y% + 5y + 1)
(437 +6y° +9y° + 129" + 1197 + 8y + 4y + 1)
Ty 1y - D 18y 4y )

C3

(y8 —12¢° + 36y* + 179° + 14y + Ty + 1)

(% 4 9y +23y8 — 2% — 43y* — % + 39y% + 10y + 1)
(T 30y 4 =TIy — 4)

S(y*2 4 78y 4 - - + 7715838523y + 607178881)

Cq

(y° + 2% + 5y — 1)?

~(y® +10y7 + 33y° + 38y° + 8y* — 19y% — Ty + 2y + 1)
(gt — 18y 4 ... — 1019y — 289)?

(y'" = 35y"% 4 - - + 409600y — 65536)

Cs5, C9

(° +3y° +2y — 1)°
(y® + 8y" +26y° + 46y° + 55y + 53y% + 35y + 10y + 1)
(M 8y 4 — 6y — 1)) (YT + 13y 4 - + 5Ty — 16)

C7,C10

(5 + 5y° 4+ 13y* + 179° + 13y% + 5y + 1)
v+ 4y” + 8% + 1195 + 129 + 9% + 612 + 3y + 1)

(
(T4 24y 4+ 14y — 1) (¥ 4 28y 4 - - - + 43881y + 1369)

C11

(y° = 9y° + 18y" +13y° + 32y + 8y + 1)
S+ 3y + 1200 + Ty + Tyt 4+ 8y° + 207 + 1)
(' =yt 4 — 1119y — 5329)

(y?% — 307! 4 - - + 12275264y + 2785561)
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